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Note : Answer all the sections as per the directions given in 

each section.  

SECTION-A 

(Long - Answer questions) 

Answer any two questions from this section 	2x20=40 

1. Discuss the major economic and non-economic 

factors responsible for slow progress of Indian 

economy during the planning period. 

2. What do you mean by structural changes in an 

economy ? Also examine the changes that have 

taken place in the structure of the Indian Economy 

since 1950-51. 

3. Examine the growth of population in India since 

1951. What are the factors influencing growth 

pattern of population in India ? 
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4. 	What is social security ? What arrangements have 
been made for providing social security in 
organized and unorganized sectors in India ? 
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SECTION-B 
(Medium-Answer questions) 

4x10=40 

Answer any four questions from this section. 

5. State, in brief, the arguments for and against free 
trade. Also, mention the different instruments 

of protection. 

6. What do you mean by 'New Economic Policy' ? 
Explain the important components of this policy. 

7. What are the causes of unemployment in India ? 

8. Outline the three phases of agricultural 

transformation in India. 

9. Discuss the sources of energy in India. 

10. Explain how does inadequate availability of 
infrastructure retard economic growth. 

11. Account for the causes of India's, Balance Of 
Payments (BOP) problem. Briefly explain each 

one of them. 
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SECTION-C 

(Short-Answer questions) 

Answer both the questions from this section, as 

directed. 

12. Distinguish between any two of the following : 2x5=10 
(a) Current prices and constant prices estimates 

of GDP. 

(b) Strikes and Lock-Outs 

(c) Economic Infrastructure and Social 

Infrastructure. 

13. Explain any two of the following : 

(a) Non-tariff barriers 

(b) Green Revolution 

(c) Full convertibility of Rupee. 

2x5=10 
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